Mitchell, South Dakota SPN Project No. 14547 H & W Contracting, LLC. 3416 Hovland Drive Sioux Falls, SD 57107

Item #	Description	Estimated Quantity	Unit Price	Total Price	Water	Sanitary and Storm Sewer	Local
1	Mobilization	1 LS	\$780,900.00	\$780,900.00	\$88,241.70	\$668,762.76	\$23,895.54
2	Remove Concrete Curb and Gutter	5,921 LF	\$6.50	\$38,486.50	\$0.00	\$38,486.50	\$0.00
3	Remove Concrete Pavement	17,016 SY	\$7.55	\$128,470.80	\$14,517.20	\$110,022.39	\$3,931.21
4	Remove Concrete Approach Pavement	787 SY	\$7.55	\$5,941.85	\$0.00	\$5,941.85	\$0.00
5	Remove Concrete Sidewalk	2,747 SY	\$7.25	\$19,915.75	\$0.00	\$19,915.75	\$0.00
6	Remove Asphalt Pavement	3,201 SY	\$4.90	\$15,684.90	\$1,772.39	\$13,432.55	\$479.96
7	Remove Concrete Pavement Adjacent to Sidewalk	347 SY	\$7.55	\$2,619.85	\$0.00	\$2,619.85	\$0.00
8	Remove Asphalt Pavement Adjacent to Sidewalk	1,266 SY	\$4.90	\$6,203.40	\$0.00	\$6,203.40	\$0.00
9	Remove and Dispose Tree	1 EA	\$810.00	\$810.00	\$91.53	\$693.68	\$24.79
10	Remove and Replace Landscaping	88 SY	\$27.00	\$2,376.00	\$268.49	\$2,034.81	\$72.71
11	Remove and Dispose Street Light Base	5 EA	\$865.00	\$4,325.00	\$488.73	\$3,703.93	\$132.35
12	Remove and Dispose Electrical Manhole	17 EA	\$200.00	\$3,400.00	\$384.20	\$2,911.76	\$104.04
13	Remove, Salvage and Reset Fence	102 LF	\$73.45	\$7,491.90	\$846.58	\$6,416.06	\$229.25
14	Clear and Grub Area (South of First Avenue)	336 SY	\$4.35	\$1,461.60	\$165.16	\$1,251.71	\$44.72
15	Unclassified Excavation	10,400 CY	\$4.35	\$45,240.00	\$5,220.70	\$37,843.26	\$2,176.04
16	Contaminated Soil Excavation	100 TN	\$27.00	\$2,700.00	\$305.10	\$2,312.28	\$82.62
17	4" Asphalt Surfacing	975 TN	\$84.25	\$82,143.75	\$9,282.24	\$70,347.91	\$2,513.60
18	Gravel Base Course	9,800 TN	\$8.75	\$85,750.00	\$8,506.40	\$73,659.25	\$3,584.35
19	Geotextile Fabric Separator	25,030 SY	\$1.90	\$47,557.00	\$5,473.81	\$39,805.21	\$2,277.98
20	9" Concrete Surfacing	17,060 SY	\$64.80	\$1,105,488.00	\$186,606.37	\$841,165.82	\$77,715.81
21	6" Concrete Surfacing	124 SY	\$59.50	\$7,378.00	\$833.71	\$6,318.52	\$225.77
22	Gravel Surfacing	800 TN	\$20.00	\$16,000.00	\$1,808.00	\$13,702.40	\$489.60
23	6" Concrete Approach Pavement	152 SY	\$60.50	\$9,196.00	\$0.00	\$9,196.00	\$0.00
24	8" Concrete Approach Pavement	1,437 SY	\$70.20	\$100,877.40	\$0.00	\$100,877.40	\$0.00
25	6" Concrete Sidewalk	26,314 SF	\$7.05	\$185,513.70	\$0.00	\$185,513.70	\$0.00
26	Detectable Warning Panels	340 SF	\$54.00	\$18,360.00	\$0.00	\$18,360.00	\$0.00
27	6" Concrete Curb and Gutter	875 LF	\$19.45	\$17,018.75	\$0.00	\$17,018.75	\$0.00
28	9" Concrete Curb and Gutter	4,541 LF	\$16.20	\$73,564.20	\$0.00	\$73,564.20	\$0.00
29	4' Concrete Valley Gutter - Omitted by Addendum #1	15 SY	Omitted	Omitted	\$0.00	\$0.00	\$0.00
30	6" Concrete Fillet Section	36 SY	\$108.00	\$3,888.00	\$0.00	\$3,888.00	\$0.00
31	9" Concrete Fillet Section	394 SY	\$118.80	\$46,807.20	\$0.00	\$46,807.20	\$0.00
32	Furnish and Install Stairs at Station 47+73 LT	1 LS	\$10,800.00	\$10,800.00	\$1,220.40	\$9,249.12	\$330.48
33	Additional Deformed Tie Bars at Jersey Barrier Location	226 EA	\$16.20	\$3,661.20	\$0.00	\$0.00	\$3,661.20
34	Spall Repair on Bridge Approach Curb Line	180 SF	\$64.80	\$11,664.00	\$0.00	\$0.00	\$11,664.00
35	Remove and Dispose Water Manhole	1 EA	\$500.00	\$500.00	\$500.00	\$0.00	\$0.00

Mitchell, South Dakota SPN Project No. 14547 H & W Contracting, LLC. 3416 Hovland Drive Sioux Falls, SD 57107

Item #	Description	Estimated Quantity	Unit Price	Total Price	Water	Sanitary and Storm Sewer	Local
36	Remove and Dispose Fire Hydrant	2 EA	\$500.00	\$1,000.00	\$1,000.00	\$0.00	\$0.00
37	8" MJ Cross	1 EA	\$1,200.00	\$1,200.00	\$1,200.00	\$0.00	\$0.00
38	8"x6" MJ Cross	1 EA	\$1,120.00	\$1,120.00	\$1,120.00	\$0.00	\$0.00
39	8"x6" MJ Tee	7 EA	\$875.00	\$6,125.00	\$6,125.00	\$0.00	\$0.00
40	6" MJ Tee	1 EA	\$750.00	\$750.00	\$750.00	\$0.00	\$0.00
41	8"x6" MJ Reducer	2 EA	\$550.00	\$1,100.00	\$1,100.00	\$0.00	\$0.00
42	8"x4" MJ Reducer	1 EA	\$545.00	\$545.00	\$545.00	\$0.00	\$0.00
43	6"x4" MJ Reducer	5 EA	\$490.00	\$2,450.00	\$2,450.00	\$0.00	\$0.00
44	6" Gate Valve w/ Box	10 EA	\$1,340.00	\$13,400.00	\$13,400.00	\$0.00	\$0.00
45	8" Gate Valve w/ Box	2 EA	\$1,700.00	\$3,400.00	\$3,400.00	\$0.00	\$0.00
46	Adjust Valve Box to Grade	19 EA	\$145.80	\$2,770.20	\$2,770.20	\$0.00	\$0.00
47	6" PVC Water Main	510 LF	\$45.00	\$22,950.00	\$22,950.00	\$0.00	\$0.00
48	8" PVC Water Main	1,650 LF	\$50.00	\$82,500.00	\$82,500.00	\$0.00	\$0.00
49	Connect to Existing 4" Water Main	6 EA	\$1,000.00	\$6,000.00	\$6,000.00	\$0.00	\$0.00
50	Connect to Existing 6" Water Main	8 EA	\$1,250.00	\$10,000.00	\$10,000.00	\$0.00	\$0.00
51	Connect to Existing 8" Water Main	7 EA	\$1,500.00	\$10,500.00	\$10,500.00	\$0.00	\$0.00
52	Insulate Water Main	20 LF	\$25.00	\$500.00	\$500.00	\$0.00	\$0.00
53	8"x1" Corp Stop w/ Service Saddle	15 EA	\$475.00	\$7,125.00	\$7,125.00	\$0.00	\$0.00
54	8"x2" Corp Stop w/ Service Saddle	1 EA	\$675.00	\$675.00	\$675.00	\$0.00	\$0.00
55	1" Curb Stop w/ Box	15 EA	\$355.00	\$5,325.00	\$5,325.00	\$0.00	\$0.00
56	2" Curb Stop w/ Box	1 EA	\$1,100.00	\$1,100.00	\$1,100.00	\$0.00	\$0.00
57	1" Type K Copper	476 LF	\$36.00	\$17,136.00	\$17,136.00	\$0.00	\$0.00
58	2" Type K Copper	20 LF	\$60.00	\$1,200.00	\$1,200.00	\$0.00	\$0.00
59	Connect to Existing Water Service (All Sizes)	14 EA	\$750.00	\$10,500.00	\$10,500.00	\$0.00	\$0.00
60	Tracer Wire Access Box for Water Main	5 EA	\$225.00	\$1,125.00	\$1,125.00	\$0.00	\$0.00
61	Fire Hydrant Assembly	5 EA	\$3,400.00	\$17,000.00	\$17,000.00	\$0.00	\$0.00
62	Remove and Dispose Sanitary Sewer Manhole	6 EA	\$600.00	\$3,600.00	\$0.00	\$3,600.00	\$0.00
63	Sanitary Sewer Manhole	8 EA	\$2,160.00	\$17,280.00	\$0.00	\$17,280.00	\$0.00
64	Sanitary Sewer Manhole Extra Depth	8.9 VF	\$155.00	\$1,379.50	\$0.00	\$1,379.50	\$0.00
65	Adjust Manhole to Grade	29 EA	\$486.00	\$14,094.00	\$0.00	\$14,094.00	\$0.00
66	8" PVC Sanitary Sewer Main	1,487 LF	\$74.00	\$110,038.00	\$0.00	\$110,038.00	\$0.00
67	10" PVC Sanitary Sewer Main	444 LF	\$95.00	\$42,180.00	\$0.00	\$42,180.00	\$0.00
68	Post Televising Sanitary Sewer Main	1,931 LF	\$1.25	\$2,413.75	\$0.00	\$2,413.75	\$0.00
69	4" PVC Sanitary Sewer Service	1,224 LF	\$35.00	\$42,840.00	\$0.00	\$42,840.00	\$0.00
70	8" x 4" Sanitary Sewer Wye	32 EA	\$300.00	\$9,600.00	\$0.00	\$9,600.00	\$0.00

Mitchell, South Dakota SPN Project No. 14547 H & W Contracting, LLC. 3416 Hovland Drive Sioux Falls, SD 57107

Item #	Description	Estimated Quantity	Unit Price	Total Price	Water	Sanitary and Storm Sewer	Local
71	10" x 4" Sanitary Sewer Wye	5 EA	\$400.00	\$2,000.00	\$0.00	\$2,000.00	\$0.00
72	Connect to Existing Sanitary Sewer Main	9 EA	\$850.00	\$7,650.00	\$0.00	\$7,650.00	\$0.00
73	Connect to Existing Manhole	2 EA	\$1,250.00	\$2,500.00	\$0.00	\$2,500.00	\$0.00
74	Connect to Existing Sanitary Sewer Service	37 EA	\$650.00	\$24,050.00	\$0.00	\$24,050.00	\$0.00
75	Tracer Wire Box for Sanitary Sewer Service	35 EA	\$250.00	\$8,750.00	\$0.00	\$8,750.00	\$0.00
76	Sanitary Sewer Bypass Pumping	1 LS	\$30,000.00	\$30,000.00	\$0.00	\$30,000.00	\$0.00
77	Remove and Dispose Storm Sewer Manhole	3 EA	\$500.00	\$1,500.00	\$0.00	\$1,500.00	\$0.00
78	Remove and Dispose Inlet	12 EA	\$500.00	\$6,000.00	\$0.00	\$6,000.00	\$0.00
79	48" Storm Sewer Manhole	5 EA	\$1,700.00	\$8,500.00	\$0.00	\$8,500.00	\$0.00
80	42"x48" Transition	1 EA	\$2,925.00	\$2,925.00	\$0.00	\$2,925.00	\$0.00
81	48" Manhole Riser	134.2 VF	\$190.00	\$25,498.00	\$0.00	\$25,498.00	\$0.00
82	42"x48" Manhole Tee	2 EA	\$3,150.00	\$6,300.00	\$0.00	\$6,300.00	\$0.00
83	48"x48" Manhole Tee	5 EA	\$3,250.00	\$16,250.00	\$0.00	\$16,250.00	\$0.00
84	4'x6' Storm Sewer Junction Box	1 EA	\$18,350.00	\$18,350.00	\$0.00	\$18,350.00	\$0.00
85	6'x6' Storm Sewer Junction Box	3 EA	\$31,000.00	\$93,000.00	\$0.00	\$93,000.00	\$0.00
86	2'x3' Type B Inlet	16 EA	\$1,785.00	\$28,560.00	\$0.00	\$28,560.00	\$0.00
87	10" PVC Storm Sewer Pipe	26 LF	\$45.00	\$1,170.00	\$0.00	\$1,170.00	\$0.00
88	12" RCP Storm Sewer Pipe	738 LF	\$51.00	\$37,638.00	\$0.00	\$37,638.00	\$0.00
89	18" RCP Storm Sewer Pipe	39 LF	\$63.00	\$2,457.00	\$0.00	\$2,457.00	\$0.00
90	42" Storm Sewer Pipe	787 LF	\$155.00	\$121,985.00	\$0.00	\$121,985.00	\$0.00
91	48" Storm Sewer Pipe - 14' to 18' Depth	729 LF	\$165.00	\$120,285.00	\$0.00	\$120,285.00	\$0.00
92	48" Storm Sewer Pipe - 18' to 22' Depth	897 LF	\$212.00	\$190,164.00	\$0.00	\$190,164.00	\$0.00
93	48" Storm Sewer Pipe - 22' to 32' Depth	772 LF	\$238.00	\$183,736.00	\$0.00	\$183,736.00	\$0.00
94	42" FRPM Storm Sewer Pipe	136 LF	\$195.00	\$26,520.00	\$0.00	\$26,520.00	\$0.00
95	Bored Steel Encasement Pipe	131 LF	\$1,240.00	\$162,440.00	\$0.00	\$162,440.00	\$0.00
96	48" RCP Flared End Section with Trash Guard	1 EA	\$2,200.00	\$2,200.00	\$0.00	\$2,200.00	\$0.00
97	Connect to Existing 10" Storm Sewer Pipe	2 EA	\$450.00	\$900.00	\$0.00	\$900.00	\$0.00
98	Temporary 42" Plug for Future Phase III Connection	1 EA	\$600.00	\$600.00	\$0.00	\$600.00	\$0.00
99	Connect to Existing Storm Sewer Structure	7 EA	\$1,250.00	\$8,750.00	\$0.00	\$8,750.00	\$0.00
100	Traffic Control Miscellaneous	1 LS	\$50,000.00	\$50,000.00	\$5,650.00	\$42,820.00	\$1,530.00
101	Project Traffic Control Signs	783.9 SF	\$4.35	\$3,409.97	\$385.33	\$2,920.29	\$104.34
102	Specialty Signs	1,633.0 SF	\$10.80	\$17,636.40	\$1,992.91	\$15,103.81	\$539.67
103	Type 3 Barricades	104 EA	\$108.00	\$11,232.00	\$1,269.22	\$9,619.08	\$343.70
104	Cover and Uncover Corn Palace Signs	2 EA	\$50.00	\$100.00	\$11.30	\$85.64	\$3.06
105	Cover and Uncover Pedestrian and Traffic Signals	24 EA	\$75.00	\$1,800.00	\$203.40	\$1,541.52	\$55.08

Mitchell, South Dakota SPN Project No. 14547 H & W Contracting, LLC. 3416 Hovland Drive Sioux Falls, SD 57107

BID SCII	EDULE A - PHASE II			31	oux rails, 3D 3710	\$4,761.82 \$36,088.70 \$991.91 \$7,517.48 \$1,700.09 \$12,884.54 \$168.61 \$1,277.88 \$516.47 \$3,914.18 \$413.16 \$3,131.21 \$46.27 \$350.70 \$94.13 \$713.38	
Item #	Description	Estimated Quantity	Unit Price	Total Price	Water	•	Local
106	Orange Plastic Safety Fence	3,152 LF	\$1.65	\$5,200.80	\$587.69	\$4,453.97	\$159.14
107	Mobile Light Towers for Temporary Lighting	7 EA	\$6,020.00	\$42,140.00	\$4,761.82	\$36,088.70	\$1,289.48
108	Preformed Detector Loop	22 EA	\$399.00	\$8,778.00	\$991.91	\$7,517.48	\$268.61
109	Type 2 Electrical Junction Box	17 EA	\$885.00	\$15,045.00	\$1,700.09	\$12,884.54	\$460.38
110	4" White Pavement Marking Paint	2,713 LF	\$0.55	\$1,492.15	\$168.61	\$1,277.88	\$45.66
111	4" Yellow Pavement Marking Paint	8,310 LF	\$0.55	\$4,570.50	\$516.47	\$3,914.18	\$139.86
112	24" White Pavement Marking Paint	1,125 LF	\$3.25	\$3,656.25	\$413.16	\$3,131.21	\$111.88
113	24" Yellow Pavement Marking Paint	126 LF	\$3.25	\$409.50	\$46.27	\$350.70	\$12.53
114	Turning Arrow	14 EA	\$59.50	\$833.00	\$94.13	\$713.38	\$25.49
115	Inlet Protection	19 EA	\$162.00	\$3,078.00	\$0.00	\$3,078.00	\$0.00
116	Furnish, Install, Maintain and Remove Silt Fence	195 LF	\$5.40	\$1,053.00	\$118.99	\$901.79	\$32.22
117	8' x 8' CC 35 Concrete Cable Mat	4 EA	\$985.00	\$3,940.00	\$0.00	\$3,940.00	\$0.00
118	Irrigation Piping	1,729 LF	\$3.80	\$6,570.20	\$742.43	\$5,626.72	\$201.05
119	Sprinkler Head	28 EA	\$108.00	\$3,024.00	\$341.71	\$2,589.75	\$92.53
120	Seed, Fertilize and Mulch Disturbed Area	2,533 SY	\$3.25	\$8,232.25	\$930.24	\$7,050.10	\$251.91
	Total for Bid Schedule A Iten	ns 1 - 120 Inclusive	\$4,695,	995.22	\$574,954.60	\$3,981,738.01	\$139,302.60

Mitchell, South Dakota SPN Project No. 14547 H & W Contracting, LLC. 3416 Hovland Drive Sioux Falls, SD 57107

Item #	Description	Estimated Quantity	Unit Price	Total Price	Water	Sanitary and Storm Sewer	Local
1	Mobilization	1 LS	\$417,900.00	\$417,900.00	\$38,990.07	\$378,909.93	\$0.00
2	Remove Concrete Curb and Gutter	4,997 LF	\$6.50	\$32,480.50	\$0.00	\$32,480.50	\$0.00
3	Remove Concrete Pavement	15,432 SY	\$7.55	\$116,511.60	\$10,870.53	\$105,641.07	\$0.00
4	Remove Concrete Approach Pavement	487 SY	\$7.55	\$3,676.85	\$0.00	\$3,676.85	\$0.00
5	Remove Concrete Sidewalk	2,480 SY	\$7.25	\$17,980.00	\$0.00	\$17,980.00	\$0.00
6	Remove Asphalt Pavement	815 SY	\$4.90	\$3,993.50	\$372.59	\$3,620.91	\$0.00
7	Remove Concrete Pavement Adjacent to Sidewalk	158 SY	\$7.55	\$1,192.90	\$0.00	\$1,192.90	\$0.00
8	Remove Asphalt Pavement Adjacent to Sidewalk	272 SY	\$4.90	\$1,332.80	\$0.00	\$1,332.80	\$0.00
9	Remove and Dispose Tree	6 EA	\$810.00	\$4,860.00	\$453.44	\$4,406.56	\$0.00
10	Remove and Replace Landscaping	123 SY	\$27.00	\$3,321.00	\$309.85	\$3,011.15	\$0.00
11	Remove and Dispose Street Light Base	9 EA	\$864.00	\$7,776.00	\$725.50	\$7,050.50	\$0.00
12	Remove and Dispose Electrical Manhole	8 EA	\$200.00	\$1,600.00	\$149.28	\$1,450.72	\$0.00
13	Remove, Salvage and Reset Fence	100 LF	\$73.45	\$7,345.00	\$685.29	\$6,659.71	\$0.00
14	Unclassified Excavation	7,650 CY	\$4.35	\$33,277.50	\$2,289.49	\$30,988.01	\$0.00
15	Contaminated Soil Excavation	100 TN	\$27.00	\$2,700.00	\$251.91	\$2,448.09	\$0.00
16	4" Asphalt Surfacing	200 TN	\$108.00	\$21,600.00	\$2,015.28	\$19,584.72	\$0.00
17	Gravel Base Course	6900 TN	\$8.75	\$60,375.00	\$3,725.14	\$56,649.86	\$0.00
18	Geotextile Fabric Separator	19,480 SY	\$1.90	\$37,012.00	\$2,398.38	\$34,613.62	\$0.00
19	9" Concrete Surfacing	15,625 SY	\$66.45	\$1,038,281.25	\$83,893.13	\$954,388.13	\$0.00
20	6" Concrete Surfacing	21 SY	\$59.40	\$1,247.40	\$116.38	\$1,131.02	\$0.00
21	Gravel Surfacing	600 TN	\$20.00	\$12,000.00	\$1,119.60	\$10,880.40	\$0.00
22	8" Concrete Approach Pavement	1,104 SY	\$60.50	\$66,792.00	\$0.00	\$66,792.00	\$0.00
23	6" Concrete Sidewalk	23,501 SF	\$7.00	\$164,507.00	\$0.00	\$164,507.00	\$0.00
24	2" Temporary Sidewalk	450 SF	\$4.35	\$1,957.50	\$0.00	\$1,957.50	\$0.00
25	Detectable Warning Panels	270 SF	\$54.00	\$14,580.00	\$0.00	\$14,580.00	\$0.00
26	6" Concrete Curb and Gutter	124 LF	\$21.60	\$2,678.40	\$0.00	\$2,678.40	\$0.00
27	9" Concrete Curb and Gutter	4,588 LF	\$17.30	\$79,372.40	\$0.00	\$79,372.40	\$0.00
28	4' Concrete Valley Gutter - Omitted by Addendum #1	34 SY	Omitted	Omitted	\$0.00	\$0.00	\$0.00
29	9" Concrete Fillet Section	304 SY	\$118.80	\$36,115.20	\$0.00	\$36,115.20	\$0.00
30	Furnish and Install Stairs at Station 5+25 LT	1 LS	\$2,700.00	\$2,700.00	\$251.91	\$2,448.09	\$0.00
31	Furnish and Install Stairs at Station 10+67 RT	1 LS	\$2,700.00	\$2,700.00	\$251.91	\$2,448.09	\$0.00
32	Remove and Dispose Water Manhole	2 EA	\$500.00	\$1,000.00	\$1,000.00	\$0.00	\$0.00
33	Remove and Dispose Fire Hydrant	3 EA	\$500.00	\$1,500.00	\$1,500.00	\$0.00	\$0.00
34	6" MJ Tee	7 EA	\$750.00	\$5,250.00	\$5,250.00	\$0.00	\$0.00
35	14" MJ Tee	1 EA	\$2,400.00	\$2,400.00	\$2,400.00	\$0.00	\$0.00

Mitchell, South Dakota SPN Project No. 14547 H & W Contracting, LLC. 3416 Hovland Drive Sioux Falls, SD 57107

Item #	Description	Estimated Quantity	Unit Price	Total Price	Water	Sanitary and Storm Sewer	Local
36	6" MJ 45 Degree Bend	16 EA	\$475.00	\$7,600.00	\$7,600.00	\$0.00	\$0.00
37	6"x4" MJ Reducer	4 EA	\$490.00	\$1,960.00	\$1,960.00	\$0.00	\$0.00
38	14"x8" MJ Reducer	1 EA	\$1,125.00	\$1,125.00	\$1,125.00	\$0.00	\$0.00
39	6" Gate Valve w/ Box	16 EA	\$1,340.00	\$21,440.00	\$21,440.00	\$0.00	\$0.00
40	8" Gate Valve w/ Box	1 EA	\$1,700.00	\$1,700.00	\$1,700.00	\$0.00	\$0.00
41	14" Gate Valve w/ Box	2 EA	\$7,000.00	\$14,000.00	\$14,000.00	\$0.00	\$0.00
42	Adjust Valve Box to Grade	23 EA	\$146.00	\$3,358.00	\$3,358.00	\$0.00	\$0.00
43	6" PVC Water Main	1,021 LF	\$47.00	\$47,987.00	\$47,987.00	\$0.00	\$0.00
44	8" PVC Water Main	6 LF	\$50.00	\$300.00	\$300.00	\$0.00	\$0.00
45	14" PVC Water Main	109 LF	\$100.00	\$10,900.00	\$10,900.00	\$0.00	\$0.00
46	Connect to Existing 4" Water Main	4 EA	\$1,000.00	\$4,000.00	\$4,000.00	\$0.00	\$0.00
47	Connect to Existing 6" Water Main	6 EA	\$1,250.00	\$7,500.00	\$7,500.00	\$0.00	\$0.00
48	Connect to Existing 8" Water Main	1 EA	\$1,500.00	\$1,500.00	\$1,500.00	\$0.00	\$0.00
49	Connect to Existing 14" Water Main	2 EA	\$2,000.00	\$4,000.00	\$4,000.00	\$0.00	\$0.00
50	6"x1" Corp Stop w/ Service Saddle	1 EA	\$450.00	\$450.00	\$450.00	\$0.00	\$0.00
51	1" Curb Stop w/ Box	1 EA	\$355.00	\$355.00	\$355.00	\$0.00	\$0.00
52	1" Type K Copper	22 LF	\$36.00	\$792.00	\$792.00	\$0.00	\$0.00
53	Connect to Existing Water Service (All Sizes)	1 EA	\$750.00	\$750.00	\$750.00	\$0.00	\$0.00
54	Tracer Wire Access Box for Water Main	6 EA	\$225.00	\$1,350.00	\$1,350.00	\$0.00	\$0.00
55	Fire Hydrant Assembly	5 EA	\$3,400.00	\$17,000.00	\$17,000.00	\$0.00	\$0.00
56	Remove and Dispose Sanitary Sewer Manhole	5 EA	\$600.00	\$3,000.00	\$0.00	\$3,000.00	\$0.00
57	Sanitary Sewer Manhole	6 EA	\$2,200.00	\$13,200.00	\$0.00	\$13,200.00	\$0.00
58	Sanitary Sewer Manhole Extra Depth	1.7 VF	\$163.00	\$277.10	\$0.00	\$277.10	\$0.00
59	Adjust Manhole to Grade	23 EA	\$486.00	\$11,178.00	\$0.00	\$11,178.00	\$0.00
60	12" Ductile Iron Pipe	20 LF	\$125.00	\$2,500.00	\$0.00	\$2,500.00	\$0.00
61	8" PVC Sanitary Sewer Main	1,305 LF	\$74.00	\$96,570.00	\$0.00	\$96,570.00	\$0.00
62	Post Televising Sanitary Sewer Main	1,325 LF	\$1.25	\$1,656.25	\$0.00	\$1,656.25	\$0.00
63	4" PVC Sanitary Sewer Service	372 LF	\$35.00	\$13,020.00	\$0.00	\$13,020.00	\$0.00
64	8" x 4" Sanitary Sewer Wye	13 EA	\$300.00	\$3,900.00	\$0.00	\$3,900.00	\$0.00
65	Connect to Existing Sanitary Sewer Main	9 EA	\$850.00	\$7,650.00	\$0.00	\$7,650.00	\$0.00
66	Connect to Existing Sanitary Sewer Service	13 EA	\$650.00	\$8,450.00	\$0.00	\$8,450.00	\$0.00
67	Tracer Wire Box for Sanitary Sewer Service	13 EA	\$250.00	\$3,250.00	\$0.00	\$3,250.00	\$0.00
68	Sanitary Sewer Bypass Pumping	1 LS	\$17,000.00	\$17,000.00	\$0.00	\$17,000.00	\$0.00
69	Remove and Dispose Storm Sewer Manhole	11 EA	\$500.00	\$5,500.00	\$0.00	\$5,500.00	\$0.00
70	Remove and Dispose Inlet	19 EA	\$500.00	\$9,500.00	\$0.00	\$9,500.00	\$0.00

Mitchell, South Dakota SPN Project No. 14547 H & W Contracting, LLC. 3416 Hovland Drive Sioux Falls, SD 57107

Item #	Description	Estimated	Unit	Total	Water	Sanitary and	Local
71	48" Storm Sewer Manhole	Quantity 1 EA	Price \$2,600.00	Price \$2,600.00	\$0.00	\$2,600.00	\$0.00
72	60" Storm Sewer Manhole	7 EA	\$4,050.00	\$28,350.00		\$28,350.00	\$0.00
73	72" Storm Sewer Manhole	6 EA	\$7,000.00	\$42,000.00		\$42,000.00	\$0.00
74	48" Manhole Riser	20.3 VF	\$154.00	\$3,126.20		\$3,126.20	\$0.00
75	4'x6' Storm Sewer Junction Box	2 EA	\$12,500.00	\$25,000.00		\$25,000.00	\$0.00
76	2'x3' Type B Inlet	22 EA	\$1,800.00	\$39,600.00		\$39,600.00	\$0.00
77	4'x6' Type B Inlet	3 EA	\$3,600.00	\$10,800.00	\$0.00	\$10,800.00	\$0.00
78	6' Type S Inlet	4 EA	\$7,000.00	\$28,000.00	\$0.00	\$28,000.00	\$0.00
79	12" RCP Storm Sewer Pipe	656 LF	\$51.00	\$33,456.00	-	\$33,456.00	\$0.00
80	18" RCP Storm Sewer Pipe	181 LF	\$63.00	\$11,403.00		\$11,403.00	\$0.00
81	24" RCP Storm Sewer Pipe	50 LF	\$73.00	\$3,650.00		\$3,650.00	\$0.00
82	30" RCP Storm Sewer Pipe	375 LF	\$90.00	\$3,750.00		\$3,050.00	\$0.00
83	36" RCP Storm Sewer Pipe	1.570 LF	\$115.00	\$180,550.00	\$0.00	\$180,550.00	\$0.00
84	•	49 LF	\$146.00	\$7,154.00	-	\$7,154.00	\$0.00
85	42" Equivalent Arch RCP Storm Sewer Pipe	380 LF	\$133.00	\$50,540.00		\$50,540.00	\$0.00
86	42" RCP Storm Sewer Pipe	2 EA	\$450.00	\$900.00	-	·	\$0.00
87	Connect to Existing 12" Storm Sewer Pipe	1 EA	·	•		\$900.00	\$0.00
88	Connect to Existing 15" Storm Sewer Pipe	2 EA	\$450.00 \$500.00	\$450.00 \$1,000.00	\$0.00 \$0.00	\$450.00	\$0.00
	Connect to Existing 18" Storm Sewer Pipe			•	-	\$1,000.00	
89	Connect to Existing 21" Storm Sewer Pipe	1 EA	\$600.00	\$600.00	\$0.00	\$600.00	\$0.00
90	Connect to Existing 27" Storm Sewer Pipe	1 EA	\$700.00	\$700.00		\$700.00	\$0.00
91	Connect to Proposed 36" Storm Sewer Pipe	2 EA	\$1,000.00	\$2,000.00		\$2,000.00	\$0.00
92	Connect to Existing Storm Sewer Structure	2 EA	\$1,250.00	\$2,500.00		\$2,500.00	\$0.00
93	Traffic Control Miscellaneous	1 LS	\$50,000.00	\$50,000.00	-	\$45,335.00	\$0.00
94	Project Traffic Control Signs	820.0 SF	\$4.35	\$3,567.00	4	\$3,234.20	\$0.00
95	Specialty Signs	1,624.0 SF	\$10.80	\$17,539.20		\$15,902.79	\$0.00
96	Type 3 Barricades	121 EA	\$108.00	\$13,068.00	. ,	\$11,848.76	\$0.00
97	Cover and Uncover Pedestrian and Traffic Signals	18 EA	\$75.00	\$1,350.00		\$1,224.05	\$0.00
98	Orange Plastic Safety Fence	2,090 LF	\$1.50	\$3,135.00		·	\$0.00
99	Mobile Light Towers for Temporary Lighting	7 EA	\$5,250.00	\$36,750.00	•	\$33,321.23	\$0.00
100	Preformed Detector Loop	14 EA	\$399.00	\$5,586.00		\$5,064.83	\$0.00
101	Type 2 Electrical Junction Box	8 EA	\$885.00	\$7,080.00		\$6,419.44	\$0.00
102	4" White Pavement Marking Paint	4,917 LF	\$0.65	\$3,196.05		\$2,897.86	\$0.00
103	4" Yellow Pavement Marking Paint	15,707 LF	\$0.65	\$10,209.55	\$952.55	\$9,257.00	\$0.00
104	24" White Pavement Marking Paint	1,448 LF	\$3.90	\$5,647.20	\$526.88	\$5,120.32	\$0.00
105	24" Yellow Pavement Marking Paint	365 LF	\$3.90	\$1,423.50	\$132.81	\$1,290.69	\$0.00

Mitchell, South Dakota SPN Project No. 14547 H & W Contracting, LLC. 3416 Hovland Drive Sioux Falls, SD 57107

BID SCHEDULE B - I HASE III		Sloux Falls, SD 37107					
Item #	Description	Estimated Quantity	Unit Price	Total Price	Water	Sanitary and Storm Sewer	Local
106	Turning Arrow	15 EA	\$108.00	\$1,620.00	\$151.15	\$1,468.85	\$0.0
107	4" Pavement Grooving for Pavement Marking Paint	18,664 LF	\$0.55	\$10,265.20	\$957.74	\$9,307.46	\$0.00
108	24" Pavement Grooving for Pavement Marking Paint	1,427 LF	\$3.25	\$4,637.75	\$432.70	\$4,205.05	\$0.00
109	Pavement Grooving for Symbol	13 EA	\$108.00	\$1,404.00	\$130.99	\$1,273.01	\$0.00
110	Temporary Curb Ramp	1 EA	\$108.00	\$108.00	\$10.08	\$97.92	\$0.00
111	Inlet Protection	33 EA	\$162.00	\$5,346.00	\$0.00	\$5,346.00	\$0.00
112	Irrigation Piping	2,633 LF	\$3.80	\$10,005.40	\$933.50	\$9,071.90	\$0.00
113	Sprinkler Head	44 EA	\$108.00	\$4,752.00	\$443.36	\$4,308.64	\$0.00
114	Seed, Fertilize and Mulch Disturbed Area	2,021 SY	\$3.25	\$6,568.25	\$612.82	\$5,955.43	\$0.00
Total for Bid Schedule B Items 1 - 114 Inclu		ns 1 - 114 Inclusive	\$3,264	,121.45	\$325,551.88	\$2,938,569.57	\$0.00
	Total for Bid	Schedules A and B	\$7,960	,116.67	\$900,506.48	\$6,920,307.58	\$139,302.60